1900 (Planck) 1.346x10° 3. K™ 1,
- [ 1] h
H h 1
h,h=6.63 x , ,
00*% . @3-9 h =
h/ 2t ,h h 1905
h ) )
h
19 , E=N (4)
( ) .
- 1913 (Bohr)
€ £ =89 n Me€
En: - - 1
£o () , &5h* n’ ©
; €o \ , n £o ,€
€o=N,h , Me )
, , . n 2 _ he
e_s/kT S_( ) r0—4_[2meez—0. 529A, |JB—4_[ me
PA) =8E/A? , 1924 (De Broglie)
P E ,
mh 1 A=nhlp V = E h
P(7\)= NE eN/kT-l' (1)
CAV K ,
T 1926 (Schrodinger)
h : 1
W TRy LI R Ie
Aoy T=—2— - 2 =ih‘a(r,t), (6)
max 1 =4 965k O ot
b , ; (1) r t m
W ( )V i ,
_art Kkt i h
o = 1l 1
h=6.55x10"*J.s k= 1927 (Hei senberg)
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A x-Ap=h; (7-1)
AEAt=h (7- 2
Ax Ap AE
At
h
, A, 1 10eV;
(1 6.5) x10 *®*m,
0.5M 2.0MeV ; : <10 *m,
21V,
h h :
° E=(n+
V2) N, Y ,n=1,2.3,
2
° E= h‘g{‘lrl), |
J=0,1,2,
o p= H4(€+1) h, Y
=0,1,2, ,n-1,
. S= s(s+1 h,
s=1/2
o [l
AN =A%ugB/ hc, A Ug
B
° a
(
1A), o=&/MmMnc=1
137, e c 137
(Pauli) ,
, 137!
[ ] y q)
, hc/ 2e
. =@ (h vl - gA/c)/M ,
q ¥ p
A\ A
. , ( E
B) :
explie (- @dt+ A-
dx)/ hc] , i e
¢ A c

.14 -

01962 22
- ( ),
i =iedn[d (0) - 2eVt/ h] ie
0 (0) 0
Y
W =2eV )
: e h
h
h
h :
h h
( : (4)) .
( )
h : ;
h
; ,h
h ,h
, h -0,
,h : h -0
h ! (7-1) h -0,
h< X P, X P ;
P :
0( ), P
: (7-2) ,h -0, h<
Et , E t ( “ "
)
h
, X
, P ,h
h (x P
)
,h
? ,
n :
1kg
,n=FEN= 107,

AE/ E=N/nh= 10



, h
mp, = (ho/ G) Y%= 2.18 x 10" ®kg
10° 10" , 2000 200 G c mp
,DNA : , (
1700 / ,h ) c=h=1
: ,G=mp?
h ( ) (2) to= (h G/ c’)V?= 5.39 x 10" “s
(3 .h b , «
- o a ,
,h e o =1/137 ;
h lp =t/ c=1.62x10" *m, I,
.h , lp
, Ip
, h (
h h ), ( ),
: , ( ) (
: 1 0 ), (h -0 )
‘ ", , h
, — , h
(Dirac) ¢ )
; ( .
) ( ( 19—30 3215004)
100% ) (
) lo I1,
( )
,h
s " ( 0) :
, (= 1.66 x10" %"kg)
DNA , 0.2
. 15 .
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